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ENGLISH

Use correct form of the verb: (Question 1 to 5)
1. She always (go) to school on foot.

(1) went (2) go
2. Ramen and his brother (come) just now.

(1) come (2) has come
3. I (write) this letter since morning.

(1) am writing (2) was writing
4. Our teacher (go) to London last year.
(1) go (2) has gone
5. The baby (eat) the rotten fruit before I came in.
(1) ate (2) shall have eaten

Change the voice: (Question 6 to 8)
6.  Our country is loved by us.
(1) We loved our country.
(3) Our country is being loved by us.
7.  We played cricket.
(1) Cricket is being played by me.
(3) Cricket was played by us.
8. Football is played everywhere.
(1) Football is played by people everywhere.
(3) People play football everywhere.

Choose appropriate preposition: (Question 9 to 18)

9.  Iprefer coffee  tea.

(D to (2) than
10. Cow live grass.

(1) in (2) on
11.  Smoking is bad lungs.

(D to (2) for
12.  Herlock likes to travel horseback.

(1) in (2) at
13. Ramesh wrote the letter ink.

(1) with (2) of
14. Paris is European country.

(a (2) an
15. Brahmaputra is a big river.

(HA (2) An
16. My father is MBBS.

(1) a (2) an
17. Roxen studied in university for five years.

(1) an (2) the
18.  Vikram Batra was one-man army.

(1) an (2) the

oooooooooooooooooooooooooooooooooooo

(3) goes (4) gone

(3) have come (4) came

(3) have been writing (4) have written

(3) went (4) goes

(3) was eating (4) had eaten

(2) I'love our country.
(4) We love our country.

(2) Cricket is played by me.
(4) Cricket was being played by us.

(2) Let people play football everywhere.
(4) Football is being played by people everywhere.

(3) over (4) with
(3) at (4) over

(3) in (4) of

(3) on (4) by

(3)in (4) by

(3) the (4) none of them
(3) The (4) all of these
(3) the (4) none of them
(3) there (4)a

(3) alittle (4)a

Choose the meaning of the underlined words: (Question 19 to 25)
19.  The young actor was nervous about his debut on the stage.

(1) a story of account
(3) a first public appearance
20. The earthquake in China was such a catastrophe.
(1) a sudden disaster
(3) handle roughly
21.  She abandoned her child after giving birth.
(1) left alone
(3) handle roughly

(2) not genuine
(4) lasting

(2) not for short time
(4) revenge

(2)bad dream
(4) immoral person

22.  Select the most appropriate ANTONYM of the given word Bliss

(1) Sorrow
(3) Ecstasy

(2) Pleasure
(4) Happiness
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23.

24.

25.

26.

27.

28.

29.

None can escape destiny. (Change into an interrogative sentence.)

(1) Can none escape destiny? (2) Can anyone escape destiny?

(3) Shall none escape destiny? (4) Shall anyone escape destiny?
I am not unhappy. (Change into an affirmative sentence.)

(1) I am not happy. (2) I am happy. (3) I shall be unhappy. (4) I am unhappy.
I shall always remember you. (Change into a negative sentence.)

(1) I shall never forget you. (2) I shall never remember you.

(3) You shall never be forgotten by me. (4) 1 shall try to remember you.

©00000000000000000000000000000000000000000000000000000000000000000000000,

GENERAL SCIENCE / sigi<4 feaie / sgizd A=

©00000000000000000000000000000000000000000000000000000000000000000000000

A boy is sitting in a train looking out the window at another train a few feet away. Both trains have stopped at a

station. Slowly, one of the trains starts to move, but the boy cannot tell if it is his train or the other one. What can he
do to tell which train is moving?
G T (TS IR (FLOA TS AF Wi Q2 (7' RITFIA bR TR | G (5 @B (BHTS (A WTR | FACR FZ
G4 (' BEADH F(ACE A I, G 7GR 33 #7172 (T G2 (€3 (A7 (@ WAL | (FALA (34 e AT
FIA (S8 & Ffaa #Ara?
T e @F T (e GF % GTe 301 FEE T 43 O G0 GTad Wi SISt Stz @R §io G Gt wifern
TR | Aita AR =6 G berre w6 3a, (6% (=gelh @ws wAras @b oiw G 7 w1 @ G verg ot e ¢
F FACS AE—

(1) close his eyes / (38 5F 3% F144 / (512 IF FCA

(2) see if a coin falls straight down / @B T&! w&ita %4 @TR @fF 51/ Lﬂﬁﬂ:ﬂ I TS TS F T oA

(3) look at the ground outside / qIfZ=4 #I2=< Fite1 517 / I WMeoa weas wifeem

(4) look at the seat across the aisle / FEATTAA FITe AF APF < 57 / FECSE LT AR s Sifewm
A person starts from point P and travelling along a path PQRP as shown in the figure. Then speed of the person
is m/s.
T Tz P 7% 74t i@l o9 Fta Wi PQRP 2% =iw Bae meaia wa | (sfenizre Mz oo e %o 27
/el
awm%Pﬁvgcﬂwwmﬂmmpranwmwmmﬁﬂaﬁ% /e

(10 seconds) (30 seconds)
3m
Q 4m P
(20 seconds)

(1)0.2 (2) 20 (3) 12 (4) 0.4
Which of the following best describes the velocity of an object?
T (FICBICE (I91F AL AT ©ITA JSrierz ?
Frfafe feg offm g @k @l 387 @9 7s oita s sE—

(1)30nvs | 30T/ | 30 fe/e (2) 30 m east | 30 T3z 7iFwe=t | 30 faie o <twee

(3) 30 m/s east | 30fe/ (g 2wt | 30 fig/ 1 e (4) 30 m/s| 30 fitz/cw” | 30 fare/

A boy travels from point A to point E via path ABCDE. If E is center of square ABDF then the distance and
displacement of the boy in meters is (1t = 22/7)

& 72 A 9752 7191 E fIvtat wiat @i #ta ABCDE #itaf w1 aft E, ABDF 35(to1a ws5fa; 23, cofent 2'e vag
I A9 , & (m=22/7)

P e awF ABCDE %2 472 A % (4t E &% #1@ 714 ¥4e1 | ABDF 35T+0aq (% E T Ae09
ST g 8 T A : & (=227 c

im
€ ED

14

——>F
A 14 m
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(1)36+ 72 ,7 )36+ 742 , 72 3) 732,36+ 742 (4) 7,43
30. The graph below represents the motion of a runner during a 2000-meter race.

wore (Ffoae G crataweE 2000 i e oo ryedt tzte
ome (F1UbrE FEm eRd 2000 o (e of® (At Zeaes |

Motion of Runner

2000
1500+

10004

Distance (m)

5001

01 23 45 617 8
Time (min)
During which of the following time periods is the runner's speed is constant?
frfafie @it e foeae el wfe s 27 2
Feferie @@ s wy @rema w=he 7 At 2
(1) 0-8 min (2) 2-8 min (3) 4-8 min (4) 6-8 min
31.  Which of the following distance-time graph shows a truck moving with speed, which is not constant?
TR (FICH! G-I (F14fbaR @dn §iF oifera veiva 4t (wyar, [ (6 wfe g 7w ?
Freferiee @e-Ha ofem g @ED 9 it offs Fom T 39 who &e T2

e 2 o 3) “4)
Time T Tme Time Time —>
32.  Which of the following distance time graph is not possible?
TR (FIO GAGANY (1D AET w=w e
TEA @A G-I (F14bd 7 14 2
o : : g
8 8 8 £
m 3 @ § 7 3) 5 4 2
a z =} X
(....:. Time —> T Tl Time —» —

33.  Choose the correct statement —
Ao Rl Fdon @a—  / Afow Teaf e wta—

(1) The magnitude of the speed and velocity are the same when a body travels in a straight line path.
ATSA! @Bt TFLA 7R (FLAF AL T FA (SIS TS A (I Aol A1 23 |
FREACHA oAf e IEA (3% ¢ Whod T GFL|

(2) The average speed of a moving body can be equal to zero but its average velocity cannot be equal to zero.
B! 5ETE I T TS ¥4 A T3 AT [ 1T (@91 *[of 71 2'F (A
oA TG 1T Telo o] ZCAES ATCIa ={elj 23 1 |

(3) To describe the velocity, direction is necessary
@9l et Ffaace el elrarerar / @9l W w3 o e fef o |

(4) Both 1 and 3/ 1 =1 3 4AG) / 1 @3k 3 Tewg

34, A fuseisrated ‘10 A’, then it means—
bt fFera 10 A (afb: it tare, oo tare— /@ fFere 10 A’ @R (reml, o wd zm—

(1) it would start working when current exceeds ‘10 A’
cfem fawge <10 A’ wifoes a4 (ofomt 2 w5 w4t wiwg Ff
T[T 10 A’ SfoT F40a1 G5 FIS Fa1 U T FACQ

(2) it would blow if current exceeds ‘10 A’
Tfw e <10 A’ wfowm ota (ora 2 6 T / oftesaz <10 A’ wfewms Fata @b sita1 T |

(3) it would start working when current exceeds ‘20 A’
cafem fagre 20 A’ wifeer Fta cefont 2w Fai wivg Ff|
fEeearz 220 A’ Sfees Fate ot F1e 741 wF FA6 |
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(4) it would blow if current exceeds ‘20 A’
Tfn fRge 20 A’ wfows wta (org 2 o TR / ooz 20 A’ wfewrs Fate «ft sita A |
35.  Which bulb(s) will glow if only switch S; and S, are closed in the circuit given below.
2N TSATS (FI% S, T S, p26 7% AT (FITCH! 1eg o 2
BTG FSAITS S, IR S, 7T I% FA! AFCA (FA (@ A7 et Geat Toa—
B, 5 B

®

(1) B; and Bs only / i%& B;=ii% Bs/ @Y 3@ B; @aR Bs
(2) all bulbs will glow except B,/ B, 3273 et a1 Gerd / B, Jrere 74 I GeTd
(3) all bulbs will glow except Bs/ Bs @ ifZta Ftetiarg g / Bs TSI 7 i Golid
(4) all bulbs will glow / F&taT i Gferd / 74 Agefe gena
36. Study the circuit shown here. Which switch if opened will cause the light bulb to stop glowing?
TG (MYET TSB! LT 41 | (FITCo! H2b (e 231 #1126 I (B ol a9 2 a2
2ANEG TSACS (I H2H10 YT e s Gered ai—

T

o

(HP 2)Q 3R 4SS

37. Inthe diagram shown, M is a mirror, O is an object and I is its image. Predict the nature of the mirror.
el foae M (27% Q2= VLA, O (20 B! I O | (20% 214 2ifSrR{d | Aireia aFfed s fiame &4
awg 5t M wofd, O 7% ¢ 1 2ifefery 2t wofef® 2a—

M

(1) convex mirror / T@# WL / T@et wolet
(2) concave mirror / SIIGE WL / Swe wofel
(3) plane mirror / sT&&1 WA / FToeT qoiel
(4) nothing can be predicted / @t #°3 (i1 / [efa = g2 7w
38. Consider the figure shown. The reflected ray is perpendicular to the incident ray. Angle of incidence for the ray is

et foars! fravel Ft | afowire af) wisren afia wifees (o werew (@ioT M 23—
ove fora wieifes afkn @ aifewfere af araeia witg | wteS afa@ Sierew (Fis —

(1)30° (2)45° (3)60° 4)75°
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39.

40.

41.

42.

43.

44,

The angle of incidence of a light ray incident on the surface of a plane mirror is30°. The angle of deviation is —

TG LA %P0 Sioifee SMRTH T e (e e 02z 30° | (org [y @wiel tere—
{6 FTree wofre 30° (el FTA AFT STeTF At Wi zre, [Rpfe @ie za—

(1H120° (2)30° (3)60° (4)90°
When a plane mirror is rotated through an angle 0, the reflected ray turns through the angle 20, then size of the
image-
i @2s FTEa VITel 0 (Fiore qraiat 27, fowfre 3t 20 Fiee 9f< @, cefom 2t aifefma wwa—
T G5 Teres vl 0 (Fite AT 2 elfewfore afa 20 (@ ite gz =, St afefrsa wiem—

(1) is doubled / w&m 2’7/ fage 22 (2) is halved / =%t 2’3/ Wde 204

(3) remains same / 7% 2ifFa / G2 AFR (4) becomes infinite / AN 2’7 / AN 274

Look at the figure given below carefully.
were el oaes! AR oiat

ewe A s eF i et |

| pObserver

Apple
How many mirrors are required to enable the observer to see the apple?
TS TCIAGCH! HIRCA Il B A0 [ WA AT 2
2D (TR o) 0 @t wolTerR efrarem ?

(M4 2)2 3)1 @3
Which observation demonstrates that light waves travel much faster than sound waves?
(FITCH! 2RI 2l FCE (T (7412T TRt *1% SR9relF (AR (Q0aiea oifS Fra 2
(IR 2RCTF (AF @ I (@ NS ST * SACHA (AF AE o 9] A ?

(1) An exploding firework is seen before it is heard

@b fRrifae sirexife waa wiaire el am|
o Rrwifae areRife e Sies ol T |
(2) Light from the sun takes eight minutes to reach the Earth
9 (ol 9fREe Toire 2'ate wig fSfHE I e
T (A 2T STE (Aeire @it FEG 7 Fs
(3) Thunder can be heard before lightning is seen
CPI RS (ATATEE SN9Te Tg2ATe W« T
IEATS (AL SATA A1 =0 |
(4) A returning echo is heard after a split-second delay
51 Yf4 o1zt 2wt oot ofemies wa @ |
aifewf fag Cratss St At oottt =)

A person is standing between two parallel plane mirrors kept 3 m apart. What will be the distance between 1st
images formed in the mirrors?

3 31 g AQAE ST q4 G ANGH VLA Mere ot e 47 (2 @it | wieARiee Teom w41 eluw afefay

[RA Weq Ay ¢ 292
G AT 3 ToE Fa0g At wid T e wofrem Ml witern wite | volq wiem Wy sifie eeom eifefirsa sy
Y & 2a e

(1)1.5m (2)3m

(3)6m (4) cannot be determined / Fefa T4t 77 T=w / el Fa1 A2 77

Look at the circuit carefully, which bulb will glow brighter?
TS A T4 | (FCH! T [RLT Toga 292
TS IR FEFICA e FCAl | (1 A @ eget SItd Fea ?

Bulb A @ @ Bulb B
v

Bulb C

o o +{|__
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45.

46.

47.

48.

49.

50.

(1) Bulb A / a1 A (2) Bulb B /¥ B
(3) Bulb C /a1 C
(4) All will glow with same brightness / (9IT52 (F2b1 A1 AT ToFeT 2'F / 7 AL A[ege Ot Gerrd

Three identical bulbs namely P, Q and R are connected to a battery as shown what will happen when the circuit
is closed?

oo eaa wea P, Q Wit R fof5) are wawa 3 (25ifFa w1ore Actatet Fat (2rz) 941061 9% A F 292
oo wifem @i P, Q @z R @ AiGifaa AZITW ISATS ATE AT | TS I% SR AGF [FFE(0 F1 A2

/ J)
S 2/

P
Lpatey o A

(1) R will glow bright, but Q and P will be dim
R Tege1 23 fFg Q @i P AIM 2 / R Tuget ©itd Geld {9 Q @3k P Hi ©itd Gered
(2) P, Q, R all will glow equally bright
P, Q, R F&aT 3ot begel 29 / P, Q, R A& wwiw ©ita geiea
(3) Q and R will immediately burnout
Q W< R OCFI® 94 T4 1 / Q 1R R SLHIT BT G A |
(4) P will glow bright but Q and R will be dim
P egel 2'3 € Q =< R /i1 2'9 / P g ©itd Geld (€ Q @ R i+ ©rd Gertd |
Which of the following is not an acid-base indicator?
©E (0! SHFHIS 5P 72T ?
Fieva @S SifrewEe e 71 2
(1) Litmus / f&5g / o= (2) Methyl Orange / fiieiizs wirag / fieizs wtag
(3) Caustic soda / F{8% T8l / F65 Gifet (4) Phenolphthalein / Rreerereaifer

Which of the following causes neutralisation reaction?

TR (IOt e e e Ffea e
Firea @t e fafemm 98 wea 2
(1) Vinegar + Caustic Soda / fetaeia + #fes gt / fermata + %% et
(2) Vinegar + Lemon Juice / fetaaia + 73 91 / fetaaia + ziga a1
(3) Lemon Juice + NaCl solution /(9 991 + NaCl ¥4 /(=199 991 + NaCl ¥
(4) Lime water + Caustic soda / 5 #iflt + F(BF ! / 5T & + F(ow (et
To make a dilute solution of HCI-
HCl =1 2igs Ffeatai—  / HCl @3 9&T o7 ¥ (o T8 T—
(1) Concentrated HCI is added to water / 95 HCI 2lfr® It &1 27 /‘ﬂfﬂw HCI &z fifere #9123
(2) Water is added to concentrated HC/ / 24Tt Ao HCIS (a9 <91 &9 /Wﬁw HCI @ fifere w41 =31
(3) Concentrated HCI and water are mixed simultaneously
NG HCI << 2l «araFerea fSeretal 28 / 9arge HCl @3k @ @ At ffee w4t 2

(4) None / €79 <518 727 / Toitad @S T
A child was bitten by a bee. Which of the following can be applied as a remedy?

@bt fites e sifate | s (ot elfewia fapiee arats wf 2ifq?
G frerE cimife Fwe e | Siva @i afewa e e Fat @ oiita 2
(1) Lemon Juice / (79 991 / (5194 94 (2) Baking Soda / @@ et / @fF: et
(3) Water / 2Ifet / &1 (4) NaCl solution / NaCl 3 / NaCl %4
Which of these causes acid rain?
T (FCH! GTRT 9979 F9¢ 27 2
GRYTAR M (@ i 3fea w2
(1) Sulphur dioxide / BT I TFHETS / FATTFI TH SHZC
(2) Ozone / =& / STETH
(3) Carbon monoxide / Fia T TIHTC
(4) Nitrogen / TT&Gte™
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51.  Which of these scales is used to measure the acidity of a Substance?
W (CRETCAIA (FI06! A2 B (I 2iwiefa @fefe giva #ifa?
@2 cFeafea Tty @ siwiteda et wifaiel Fare T 7@ 2
(1) meter scale / iR (et / B a1 (2) ratio scale / SATST CF& /TS CFeT
(3) pH scale / pH =& (4) nominal scale / =@ CF&
52. John put a red litmus paper in caustic soda solution and blue litmus to vinegar solution. The colour of red and blue
litmus paper change respectivelyto

e Wr@mwt%ﬁmcﬁmwﬁmmﬁmmcﬂmﬁwaﬁtwﬁmm AR R T
S =
T, Fe® CIS! T @30 e Foa e 93 fSraaia wate S fva Five @edfes | #ie @3z Je oo
FoITTA Ae I #/fFAS® 27 |
(1) Orange and Brown / s i<k Jait / Fsett @42 qiwifa
(2) Blue and Green / i1t @ii® (ReSG / 267 €% 7S
(3) Yellow and Red / 28 << q6 / 267 @R &1
(4) Blue and Red / et @i q¢t / T @3 &A@
53. John is suffering from indigestion. What should he consume to cure it?
T T (1TSS (2 R | WE A Ffata (oe & o s w2
T IREGCE A SNEFIG ZCACR | 5! A &) ©fF & (37ae &4 Tibw 2
(1) NaCl solution / NaCl @4 / NaCl ¥
(2) Milk of Magnesia / fir& =% (weitafem / e o et
(3) Lemon juice / (5T 9 / (#1994 T
(4) Orange Juice / F5&1l 991 / Foe1| 991
54. Silkworms secrete fibre made of—

(AOIRI54 Gl FA© ORI Sife T—

I FIG (A (oA TR (2w wem afve zm—
(1) fat / 5t (2) cellulose / (=FTeTS / (LIS
(3) protein / &fbs (4) nylon / <I/ZeT

55. Silk is obtained from the of silk moth.

& cavsdisa F 291 AT 2T

e @ iee (ATF AeT AT |
(1) Pupa / fofe=it (2) Larva / st
(3) Cocoon / (&I (4) Caterpillar / 27 / SrRITAF

56.  Which of the following is a chemical change?
T (ol A oifeTen 2

oA @0 A ofaae 2
(1) Burning of coal / Fq&11q W2+ / FHIR W2
(2) Dissolving sugar in water / #lfre (5 Gargs F41 / Tea B vargs w4t
(3) Dissolving salt in water / 2iiire #19w Garge F41 / T 7% Garge Fai
(4) Melting of ice / 3a% 9ife1 caiat / 7 aite1 qhew
57. In a kerosene stove—
@FIoTa (Gt Ghre—
(FCAPTA Ferra—
(T) Kerosene is pumped and converted to vapours
DA #A7 Ff1 it FoEle T4 21|
(FTRATM 2= T AT Tl e 741 27|
(I1) The vapours are then ignited
13 foree Areitar gt v
I TR AP LA B
Which of the following is true about the above Statements?
7S WAl TG 2/ To1a (FAH &% ?
Firsa S Toiraa f9fS wweiea ey 2
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S8.

59.

60.

61.

(1) I'is a chemical change and II is a physical change
[ @Bt Il wfaaea, 11 @bt (Sifes Afsasa / | o st R e 11 = Eifes afsasa
(2) Lis a physical change and II is a chemical Change
1 4Bt ceifes #ifsae, 11 bt Iafae #faeq / [ @@l ceifos R[faa a3k 11 @ aEiate e
(3) Both I and II are physical changes
[ =i 11 Toraz (Sifes #ftaeq / 1 @3z [1Tewz (aifes #faaea
(4) Both I and II are chemical changes
I =it 11 Teraz avatae sifeasq /1 a3z 11 Temg amafe 2faae
Galvanisation is a process used to prevent the rusting of which of the following?

(TFTSZETR (202 T4 (FIH! AR (Y Faaca qia T4 i 2

eTTeCEH 2ifera Teoa (Fwbre w6t aferaiy Fare Ieza Fai za 2
(1) Iron / =iiz@et / =raast (2) Zinc / &=
(3) Aluminium / @sgfifas (4) Copper / 211/ 94

Which of the following is/are true when milk changes into curd?
AN CLat ot R o1 (FICo! 79 2
b @6 7oy T2 §Y w2 oAfFTe z7 2
(1) Its state is changed from liquid to semi solid.
T4 O] O 29 A FIeical oA 2T / 47 TF O (AF S Fioea AT =
(i) It changes colour.
TR AR FCA |/ 97 A ARASS 27 |
(iii) It changes taste. / ¥ GV HeTlel ¥ | / 97 F¥ AA(SS 27 |
(iv) The change cannot be reversed.
TS5 STAB! F(R @RI |/ 7if7aea Reide =i qwa =i
Choose the correct option from below :
Toa A A Ted AR / WMo (AT FAow ms @om
(1) (1) and (i1) are correct / (1) == (i1) &% / (1) @3% (11) &&
(2) (i1) and (iii) are correct / (ii) @<e (iii) &% / (ii) @3R (iil) &&
(3) (1), (iii) and (iv) are correct / (1), (iii) ©= (iv) ¥a / (1), (iii) @32 (iv) &&
(4) (i) to (iv) are correct / (i) T =4t (iv) &1 @@ / (i) (TS (iii) @3 (iv) TR w5
Two drops of dilute sulphuric acid were added to 1 g of copper sulphate powder and then small amount
of hot water was added to dissolve it (step I). On cooling, beautiful blue coloured crystals got separated
(step II).Step I and step 11 are:

1g 4R Qs wfTe qrotaie o gefrees afee et #1 orF e ey «fesee o=« @it #f vdrge

T4 T (AMTTOND), S (RIFIE FTC91 FCo AT ATt T8 FHFCA T (2 9051 (AFCFAAR) | AN Wik G Awewt
ﬁ_

1 g Foia ARG STITS U2 (FB! oo Ao ae e et w4 Tawe @k oaea b gaee Fa9 T oF
“AfaaICe! ofs T (el Tl AR (AWTHAD ), Sl LG 2ITa Aol AEA “HFoPLTE S ZCH (9051 (AFTFAR) |

FMCFA S @R T —
(1) physical and chemical changes respectively.
T (Sifes O I “faaes / aw (Sifes 3z At wifsasa
(2) chemical and physical changes respectively.
T I W (i HAfaasa / aeiwm avwte gk Sifes vifaae
(3) both physical changes.
WA (SifeT oifqaes / Tewz (Sifes sifqaes
(4) both chemical changes.

A concentrated sugar syrup was made by dissolving sugar in hot water. On cooling, crystals of sugar got separated.
This indicates a —

AT ATS (5N TAGS F1< B! T (51T T (O T4 (2T | SNG] (FF TS (5K TFOFCAT 2 (2 51T | G205t
I @—
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62.

63.

64.

65.

66.

67.

o T O garge Fea Gt T s 73 (ot w41 2#1 | st 2t iva whaete 9% 2@ (o= ab e s @
b
(1) physical change that can be reversed.
oo 39 Sifes sifvasa) / Redre 33 (Sifes Al
(2) chemical change that can be reversed.
Ridre 33 IeTAE ofFea | / Redre A FeTERE ofFEe |
(3) physical change that cannot be reversed.
A A S I . e e
(4) chemical change that cannot be reversed.
TRl #feaen st [edre 33 72w / It sfaey arel f[eiEre 93 )

The chemical formula of rust is—

wfqRq AT 79 E—
W5 A T8 2 —

(1) FeO (2) Fe 03 (3) Fe;04 (4) FeO,
Which of the following statement is incorrect for a chemical reaction?

i e Are v el fRefe g
AT Rt o e @m [ereh ga e

(1) Heat may be given out but never absorbed.
il I5T 44 7T (58 (Ffomie ooirem S @1/ Bl I57 T3 75 FACA I FACS #I1Ta
(2) Sound may be produced. / *% Te2T 27 2T | / ¥ CLAT ZCE ATA |
(3) A colour change may take place. / 963 #fqa% 23 #ita| / Fed “if7as zre It |
(4) A gas may be evolved. /(1%a T 217 23 AT | / 9717 T AT TS 2ATA|
Tomato is a natural source of which acid?

BTCH! O (FICH! AfRea 2igtes Tew
BBt Meva (Fi(s wifes eigfes Tevi ?
(1)Acetic acid / «fefos «fge / wnitfs wnifre (2) Citric acid / 22EF afze / #i2Gs =it
(3) Tartaric acid / 5195if%% «fg® / Giabifas wife (4) Oxalic acid / sgiifee «fge / wmifers wifre

Iron pillar near the Qutub Minar in Delhi is famous for the blooming facts. Which of these facts is responsible for
its long stability?

Tae 799 fFa ¢vaa (112 TBCH! ToTe Trae T4 ©F A RUe | @2 ©2 73z fCoas (@b v T
et Faele tea wid 2
e o7 Tmitaa «itet e T fmfatee wram oo e | «a 7 gifires o O2 Setes sty =i v 2

(DIt is more than 7 meter high /@A Twet 7 Foaetae wivs / @it 7 fbitaa @ Tw

(2) It weighs about 6000 kg / @& &@ 6000 kg / @9 €T« &iF 6000 kg

(3) It was built more than 1600 years ago

1600 q2TeLF e i 27 i w41 (2w / afe 1600qaae @ =ies e zrafes

(4) It has not rusted after such a long time / 23w w14 foregst W 4t w117 / @efaw sitae wfawt e
Which part of the blood helps in blood clotting?
(ST (FIACH! THE (TG (53 A TS T A ?
FEA (FAH FAS TS TG AUITS A FCA ?

(1) Blood Platelets / ® Sfera (2) RBC / (wiifZe 9@ st / (erifze 7@ ot
(3) WBC / (%© 9% S0 / (7€ T& Fiow! (4) Plasma / Zirersit

Which of the statements is true for saprophytes?

TTEA 2N CFAS o9 (FIH! The A ?

TOEI 2T CFTE oA (0 S 79 ?

(1) They feed on dead and decayed organic matter

BT ot #I51 7% <A fZpieet arzel T | / @Al Avtae 9% <A fZa e |
(2) They feed on other host organisms

220 I (AITE A 241 < &2 I/ @@ 6l (oA 2 (A g ez F |
(3) They prepare their own food

22re fiera 4w e tewre a1/ ol firem 4 fre ergs |

(4) None of the above / dBle 72T / GFHS 77
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68.

69.

70.

71.

72.

73.

74.

75.

Dialysis is —
TrAETbR (2re— / TiERhE T —
(1) A process that helps in inhalation and exhalation
1 oS =i F41 @b elfeFat |/ @it e At i e aifeis s F |
(2) Attificial process of diffusion in the alveoli
Y (TS FEEITE (@ G2 | / IYFICE FIaw ©ITd 29T G|

(3) Artificial process of removing waste from the blood
(ST ~1 F Wi FrEiET bl Fiaw eiferml |/ Ae (A0F ITmie FHT Fias Solm |
(4) A process that constantly supply oxygen to the body
(TS SRHTEA (@AM ¥319 95 wfeTe afert |/ @ efferm @b @z omeEs SfEe @iee o |

What happens in a human body, when we respire an aerobically for a short period of time.
A (TR RS T A3 (Aot ST #7w weo cofent & weh 2
TR CRTR L S TR T SRS Fo W06 4 s weh 2
(1) Glucose is excessively used / Sifewial 2% 924 2|/ §FT AfeTan JIze 27 |
(2) Lactic acid is produced / (7% 5% «foe Tesim za | / wiiwhs SnifFe Teom 27|
(3) Hydrogen is released / i2gram fefe 27| / zirgive fafe 2
(4) None of the above / @Bl 72T / GFHS 77
The oxygen rich blood is carried to the left atrium via the

Cormers o e sfewre ofen s 27 S —————

SEge e 2fEaiee & @R ST |
(1) Pulmonary vein / @ @t / @ Bt (2) Pulmonary artery / IS 45/ IS 4=t
(3) Aorta / TRt (4) Blood capillary / q/@=eliat / T@en<t
The reproduction in fungus is done by the process of
(ST 2T 2T v 27 |
BT 2T aiferaa vt 21|

(1) Fragmentation / ©% / S5 (2) Spore formation / (3¢ 1o / @‘1‘31“3?{
(3) Budding / IF&= / JFCEAMAAN (4) Sprouting / SFae / SFA

Which of the following statements is not true for Aerobic Respiration?
TETS Wal (FH! BIE TS AFea (Fq &F 724 ?
Te et (@D Tfe 7are W T oy 73 2

(1) Its end products are CO, and alcohol
TR AT Bl (2rg CO, S qoraget / 321 Oifes Betive 21 CO, 3R Goiage
(2) Tt takes longer time to release energy / *if& sfe (ziare @f 7w west / «ife Fefe zre @t 7w =iest
(3) It is seen in animals and plants /3 S&7 =< 20 CFare Feifde 2/ Tfew ¢ aitdfive waifde =0
(4)Bothaand b/ a =% b Teq / a @32 b Ted
The carbon dioxide produced during respiration in plants is excreted through

TEra W TS TAAT (F FITGE ST 3 a4t 3fere 28—
T WIS Tl 26T FIHTCIR THIRE @7 BAafere za—
(1) Transpiration / &TF« / ATIwq (2) Lenticels / (sif%t5e1 / (eIfoeam
(3) Stomata / #/q9% / “1q9TH (4) Falling of leaves / 2@ #1<¢! / #l& Aq
The false feet of Amoeba are used for :
GfRIE FH7W 92 TT—
SR FooAw TS TW—

(1) Movement only / 5eTibeT® / BETIBLET
(2) Capture of food only / AWMIFRER / AWFRAR FATS
(3) Capture of food and movement / AWIAREE T BelbeTe / dWFREAR G9R BB

(4) Exchange of gases only / (%a W[ &W(TS / FICTH W &A1« @
Name the organ of the body in which the blood is oxygenated.

TETS WAl (6! SRS (T TS & ZH—FC6 WET (FIAH o TG AT T& T8—
(1) Heart / Zmiies (2) Lungs / gfewie / Tomm
(3) Liver / ¥9® (4) Pancreas / S14*¥ / SIH7d
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76.

77.

78.

79.

80.

81.

82.

Which one of the following contains haemoglobin?

TeTe Tl (FeeTe 2 aAfdm «AE 2
e oret @Faiore fTw'afaw s 2
(1) RBC / (e1ifze 7@ =lowt / (eiifze 7@ St (2) WBC / (%¢ 7@ F0F! / (4 T& Fio!
(3) Platelets / Sjpferet (4) None of the above / «Bl€ 72T / «& '€ 7
The muscular tube through which stored urine is passed out of the body is called
R (oMlige Teiee B Ta (23 o4 A g 1 oE @It |
(A (RIS TAFIE A A I I20E @ T @A 2| |
(1) kidney / 3% (2) ureter / J@AtfR TErHt
(3) urethra /Wﬁ[ (4) urinary bladder / &M@

They are pipe-like, consisting of a group of specialised cells. They transport substances and form a two-way traffic
in plants. Which of the following terms qualify for the features mentioned above?

Trgw wferet s, fara (T iR fRrn Ten fexre oy oifsazs #ta | @2 sfaatst oo @bt e Fta?
el zat wer-m, Reo s (@iea TS | GRuTE Ten WiE A sifaeze F7a | [ith (Rt (@I T ol
TrEY T SRALTEA (F I FA 2
(1) Xylem tissue / SHiEgeT Fei (2) Vascular tissue / STFeq Fe1l / ©IFeTd Fel
(3) Root hairs / JECAS / ETCA (4) Phloem tissue / CZFFICIS FeTl

Blood is needed by all the parts of our body because it performs the following important functions in our body.
Choose the functions which is an incorrect function of blood:

(TG *[94q 2fSTh! =ze1T AT WS eTAT, FIe 2 AT 9T Tore wat wwglol Fiay T T Fea | wore frat
(FIH! (ST T 72H ?
TG (TIZA FEa1 ST T Tredl, F1a0l 7@ s memt wwgalel 1 soim aca | fes orewt il area w2
(1) Blood carries water to all the parts of the body.
(ST *[99T FECA SRIATA #A FOAIL (1 AW |/ TS (W2 S S Tt (ol 4 |
(2) Blood carries oxygen from the lungs to different parts of the body.
ot €T e 7 wfem orea f[fen swralte Fhoaiz e am)
TG TG (AT TS (2R T Qe sttt o |
(3) Blood carries digested food from the small intestine to all the parts of the body.
COTE 67 (/A1 AW = FHCA| TRIATA FIOAIR C21 A | / TS A LG AWy (HCZA Tt S (A 477 |
(4) None of the above / dBie 72T / GFHS 77
Aquatic animals like fish excrete their wastes in gaseous form as:

TS 2liat TR % omief T2pitel S e |

TG 1A TN N (WTE T 2€T 7T 2mid (T ot WEE Fea o zm—

(1) Oxygen / <3 (2) Hydrogen / Zi2gt&e
(3) Ammonia / @t (4) Nitrogen / TT&Gte™
Which of the following statements is correct?
wore frall (@ICo! T 7o 2
Frefefie @ Efef e 2

(1) The removal of waste material produced in the cells of the living organisms is called excretion

W2 213 I 2 Fwee e @on 3 @i 2|
(TR (AT TG 2 FHPTa 2 @oade 23|
(2) CO,is removed from our body by the lungs during exhalation

frpR ARt CO, (rza 7@t frsem za )| / e effesns @t CO, orz (s freem 231
(3) Urea is a major waste product, produced in our body which is removed from the body by kidneys.
i 7 72 7 o, fht 39 v AfEre = |/ Rofamt 7w 1 I o, @ Jraa wa Ao 2w
(4) All of the above / @5 SBIAFL! / €2/TF4 71 FAD
Vegetative propagation in potato takes place by

T A9 SIET A 2T 2 |
TS Ao e 7 21 =
(1) leaves / ?il[S / #i& (2) stem / Fies
3) root/ﬁ"n/ﬂjf (4) seed / AT
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83. Consider the following statements and choose the correct one:
weTe fren Tferaras o[t v efetnt aife sen—
s rewi e ofem sty @ o —

(1) The production of new organism from the existing organisms of the same species is called reproduction.

T eiferaica A 2idfiq 2@ aF owifed 7o 2ifia Tesm 28 SitE eieme @E |
G2 2T TRTE 2T (AT T 27 B 26T eie= et |

(2) Plants also reproduce to form new plants either from their body parts or from seeds.

TFAANTAE IS AL (W2 TR LS el GIgwa Sl e |
Tfer Te wiedt Frea (itzd St (AT T SIema 1S I |
(3) The special cells involved in sexual reproduction are called gametes.
(Tl 2T AN TGS QA (FIACEEE Tl (F1F I (&1 27 |
(Tl ST Tes Rrra (F1a efoTs oem (FiE 3t |
(4) All of the above / @2[qa SGIFL! / €A 34 FAD
84. Which of the following is the correct sequence of events in the sexual reproduction of plant from the flowers?

TR (FICO! AT oA (T e wm o=t

5 (remt @ES Ao Tema 2iem =51 Toad AT FH—
(1) Pollination, seed, fertilisation, germination /#ateltaal, Jie, Frawe, sicgast /#atercatal, e, Frawa, sicgad
(2) Pollination, fertilization, seed, germination / #iataizaial, Frawa, Jre, Sicgast / #=tertaial, frase, e, wegas
(3) Pollination, seed, germination, fertilization / 2[Ateiats), e, Wﬂ,ﬁrﬂ'ﬂ / ortaTate, e, W‘(ﬁ%ﬁm

(4) Pollination, fertilization, germination, seed / #fAtaizatal, fFrass, @iFact , I / sriawata, Feasa, sgad, e
85.  Which mineral is required for building strong bones and teeth in our body?

TEA (B! AT AL e Wi 2Td Aon e a2

N> e (@D AT 2T ¢ wired 49w W& 3 ?
(1) Iodine / =rafes (2) Calcium / (Ffe@ / Fymm
(3) Iron / &1t / ezt (4) Sodium / AfETT

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

86.  The additive inverse of —6 is

—6 T (AF RATS ALAITH! (20—
—6 @3 (NS Roidre Ay e —
(1) é (2)% (3)6 4)5

87. By what number should 1% be divided to get% as quotient?
1 2
15 % f& it oot Ffaea et 3 CRRe
1 2
1 & & eyt wr ot FfE oo 3w e

2 2 4 1
2= 2)1= 3) — 42-
()3 ()3 ()9 ()4

88. By what number should (—=8)™' be multiplied to get 107" ?
(-8)"! = f& Wit A= Ffaear 107 ot a2
(-8)" = f& 7yt =it wot Ffatea 107 22

4 =5
(1)§ (2)7

(3)_?4 (4) None of these / Ble 727 / @& 71
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89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

2x-1 x-2

If = +1, thenx =?
3 3
o 2x3_1=x;2+1@,m)c =2/ W 2x3_1=x;2+1§?1,mx =9
(12 (2)4 (3)6 4)8

The ages of ‘A’ and ‘B’ are in the ratio 5:3. After 6 years, their ages will be in the ratio 7:5. The present age of
‘A’ is;
‘A’ WIF ‘B’ T IS IR AT 5:3, 6 I TGS HEed I09 TGS 7:5 ZCA ‘A’ I I8 797 23—
‘A’ 3R ‘B’ O3 ISR ITCE TS 5:3, 6 IVTA AA SIMA IR TGS 7:5 20 ‘A’ @3 IS I8 TS 7—
(1) 5 years / %1 / 314 (2) 10 years / 929 / 3874
(3) 15 years / 929 / I&7F (4) 20 years / 929 / &4

IfA:%B andB:%C,thenA:B:Cf?

ﬂﬁA:%BWB:%C ‘iﬂ,mA:B:Cﬁ/ﬂﬁA:%B cﬂﬁ‘{B:%C@,WA:B:Cz?
(1H1:3:6 2)2:3:6 3)3:2:6 “4)3:1:2

If Rs. 420 is divided between ‘A’ and ‘B’ in the ratio 3 : 4, then A’s share is;
7MW 420 5 ‘A’ W ‘B’ T NGO 3:4 TATTS SrAE! T, (ST ‘A’ T 90 2'F—
MW 420 51 ‘A’ € ‘B’ @ WA 3:4 SRATS ©i9l T 2T, O ‘A’ 97 2@ HiFIE WK Zra—

(1) Rs. 180 (2) Rs. 240 (3) Rs. 270 (4)Rs. 210
8 men can finish a piece of work in 40 days. If 2 more men join them, the work will be completed in:
8 T L2 <5t FI 40 frere e 7Aita | 7t =i 2 Tt R QST AN (STT FINCB! A Faata
At
8 T (71T GF b Fi& 40 ea FaCe 2Iitd, e 2 T @F @i fwest et o[ Face Qigel

(1) 30 days / fa= (2) 32 days / fas (3) 36 days / fam (4) 25 days / fam
A rope can make 140 rounds of the circumference of a cylinder, the radius of whose base is 14 cm. How many
times can it go round a cylinder with radius 20 cm?

14 czefite Sf¥ qyomda @bt Hfeara sifafie aute afora 140 7l wisti %11 R qfoeiteta 20 (zfie s blaea
@51 aire e 39 ifeaia ife e
14 isfate ofw e e ol Fiferaitan #Ifafy qaiea a3 14020 c4Te a1 20 @il g D

(1)28 (2) 17 (3) 98 (4) 200
In an examination, 95% of the total examinees passed. If the number of failures is 28, how many examinees were
there in total?

G5! ATS T AT 95% Taref 27 | T SR@iefq AL 28 T, (SCF T AT (e wifee 2
G % A (NG 2ATH A 95% TEI =, AW TG 1ef AT T 28 T, OTA (NG AR F A A FS 2

(1) 600 (2) 480 (3) 560 (4) 840
70% of students in a school are boys. If the number of girls is 240, how many boys are there in the school?
@4 TwrieTeTe w1aa AR 70% | A (RIS AR 240 Tt 27, (o0 e < ot w4 A fFwe e
o fweTeaa 70% =@, 7 R@F A 240 27, ©@ BITEE AR FO ?

(1) 420 (2) 560 (3) 630 (4) 480
In an examination, it is required to get 36% of marks to pass. A student gets 145 marks and fails by 35 marks.
The maximum marks are;

aBt 2T 2% FTRACHA 36% TI9 2IF N | GG QAR 145 799 AR 35 7999 A SFSHA] 20, AHICOS 9
Tq4TI—
G5 AR AR T 36% | GFC RE 145 T (AT 35 THCAA G SRS T, AT (N6 75 T ?

(1) 400 (2) 450 (3) 500 (4) 600

1
On selling a jug for Rs. 144, a man loses 7 of his outlay. Ifit is sold for Rs. 189, what is the gain%?

a5 Tt 144 St &fE Ffara WWW% T (@B 2 | (% st 189 Sare fafE w4t 23, oty
(€3 #S i *roied '3 2
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99.

100.

101.

102.

103.

104.

105.

106.

G Tol 144 St [Ters Fata1 «Fe Ffes FEe %w T 27, T @6l 189 B A Fraw o o =i

e 9 ?
(1) 12.5% (2) 25% (3) 30% (4) 50%
A vendor bought lemons at 6 for a rupee and sold them at 4 for a rupee. His gain % is;

aT frereiz «F 591 6 51 7y [Ff wifa @ 5o 4 B [ sfere, oda e weiw e e 2
e [rersl 1 5% 6 B (7] 70 Ftaw @3k 4 T (71 | B R Feam, of Fo *eiwt #1fe 213 ?

(1) 50% (2) 40% 3) 33%% (4) 16%%

‘A’ borrows Rs. 8000 at 12% per annum simple interest and ‘B’ borrows Rs. 9100 at 10% per annum simple
interest. In how many years will their amounts be equal?

‘A’ 2 AR 12% F9e To© 8000 5t &< ‘B’ (X A%« 10% Aae1 Jo© 9100 5 41t =79 | fFwie 927 orge (odraea

T Eeet AT 27 2

‘A’ 12% 7@ 7% 8000 51! 8 ‘B’ 10% H L7 9100 BiFl HiA (T4, F© IR 2103 S AJGle1 T 203 2
(1) 18 years / 923 / 374 (2) 20 years / 929 / 34
(3) 22 years / 929 / &4 (4) 24 years / 929 / 34

At which sum will the simple interest at the rate of 3%% per annum be Rs. 210 in 2% years?
1
& Tegera qgfq 3%% EUA] 25 T2A4 A9 7 210 51 29 2

(@9 AL IR 3%% QA Z%WWWZIOWW?

(1) Rs. 1580 / 5=t / Bist (2) Rs. 2400 / 5=t / Bi=t
(3) Rs. 2800 / 5=t / 51t (4) None of these / aB6 72T / aF '8 7

One side of a parallelogram is 16 cm and the distance of this side from the opposite side is 4.5 cm. The area of the
parallelogram is—

AT F G5t AT e 16REE WF R A2 o[ T e 4.5 (=50 2w AR e 29—
FAMVRCFT GFH I2F ) 16 om 3R [I2FTS 2 (ATF 97 TG 4.5 cm Z0A ATGHF0F CFae 23

(1) 36 cm® (2) 72 cm’ (3) 18 cm® (4) 54 cm’
The ratio of the areas of two squares, one having its diagonal double that of the other, is—

a5 3o CFga T ot A9 CFA FofA Gel A, INTFG GO FfeTE TGATS TF—
u% Ioftwran e ioa o fve fawd 2, aeftraera crawte™ Seoite 2@—
(H2:1 2)3:1 3)3:2 44:1
The area of a thombus is 36 cm” and the length of one of its diagonals is 6 cm. The length of the second diagonal is

5! TR F 36 5 cm S AT G561 F9 (A9 6 cm ZCE TG rATs! Fofq (wef 29—
G THOTE (AT 36 35 cm TR TZE GF (B Feelq O) 6 cm 2@ SIT6 Fefq 07y F© 2
(1) 6 cm (2) 6+/2 cm
(3) 12 cm (4) none of these / ble 2T / aFH'Ee 71
Raju walked 3 km towards North then 8 km towards South. His position at the end of the walk from
starting point is:
AG 3 km TEIT FCA (AT ACH W FICE 8 km AT (96 TA ANEG F41 B4 2441 (D€ TS STZH
79—
g Tea e 3 km 2B %It wiEwet fae St 8 km 2iTH | T@t SIAE F417 A (AF O IOA SF ZEA—
(1) 5 km towards East / 5 f&:f3is Teaa wita1 / 5 f5:fi Tea s
(2) 3 km towards South / 3 f&sfiie wfarera witet / 3 fFsfie wiwm e
(3) 8 km towards North / 8 fFsfis Teaa =ite / 8 fF:fie Tea s
(4) 5 km towards South / 5 fsfsis wfwer itat / 5 fefe wiwen wea

The adjoining pictograph represents the number of fish each child has in the family’s fish tank. If there is a total
of 30 fishes in the tank, then how many fish does each fish symbol represent?

FiTe f P25 e 2AfSrs! w1al-(RAIee 999 TRd (531 4! TR AR e | qW (BLRITHIS I 30 i A A
(ST ed 2iferht b fFwis! e Jeiers ?
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IS 30 T Nz AT, OI2Ta G0 Ntzd ©F F6 s 3¢ Fea 2

Number of fish in the tank
(BT 4! g ALl)

Carlos |y ¥

Sally @ ,@ o

John ,g ,9 @ w
$=?fish(ﬂﬁ)

(D5 (2) 10 3)4 46
107. Which relationship between units of time is correct?

TS WAl T T (AR (T AT wm e / frm fele e Al

1 1 1
1) One hour is —— of one year / & T (202 9F 294 —— AR / OF T0! &F IJAd —— AR
) 365 Y 365 365

(2) One hour is Lofone hour / @& T%1 (2(7 @F TBI1F L T /9F TB] GF IO L o
365 365 365

(3) One second is éof one minute / <& (brEFS mﬁﬁﬁﬁ;—o 9/ GF (TS Lﬂ?‘iﬁlﬁ'@ﬂ;—o T

(4) One minute is %of one second/ @& f3fF% tzre ue GrEeT % o/ @ WG 9F ETea 61_0 il

108. The number of edges in the given figure is

were T foarsre eirea At t2te -
oy 3fere ot airea w7 .

(1)8 2)9 (3)10 4) 11
109. Which of the following numbers is divisible by 9?
TeTa (@ol At 9 @ e e/ free @ wew 9 v ferey 2
(1) 9076185 (2) 92106345 (3) 10349576 (4) 95103476

110. Find the value of —12—(—48)—[(—13)+(-8)—(-3)+4]
—12—(—48) —[(~13) + (-8) = (-3) + 4] = == fa =t
—12—(—48) —[(~13) + (-8) = (-3) + 4] w7 7= fefr 7

(1)-48 (2) 50 (3)-12 (4) 62
111. A 24,000-gallon pool is being filled at a rate of 40 gallons per minute. At this rate, how many minutes will it

take to fill this pool % full?

24,000 Co/eT 2/ 410 T 21 YT @bt FfFoe 40 (o 21t SqiTe, ALt Syt 2 Ffaara e wfea
24,000 21T Tt 479 FASS G AT 2ife s 40 oAy et o) Fai 2re Ty s sifasf zre

TG A ST 2
(1) 300 minutes / fife® (2) 560 minutes / 55
(3) 600 minutes / {5 (4) None of these / @Bt 7127 / @& 7a

112. Two-fifth of one-third of three-seventh of a number is 5. What is 40% of that number?
@5t A2 foff ATieNT @F TOImeR 1R e 5 ZE FARATHE 40% fFw 2’92
B AR o1 AT GF TOTIR (17 42 A 5 2re1 Ao 40% T 2
(172 (2) 84
(3) 105 (4) None of these / dBle 727 / @& b€ 71

113. The value of \/248+\/52+\/144 is
\/248+\/52+\/144 ITAZI— / \/248+\/52+\/144 aF I I —

(1) 14 2) 12 3) 16 (4) 13
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114.

115.

116.

117.

118.

119.

120.

121.

(O.l — 0.0I)xO.l 1><(0.01+ 0.0001) =

(1) 0.00009999 (2) 0.909099 (3)0.10101111 (4) 0.00000099
Virta Kohli’s score in his last 11 innings are 101, 10, 102, 10, 4, 56, 58, 101, 53, 58, 101 respectively, Find the
mode of the given data :-
b Frefem orEe 1151 2f%a &t e @ 101, 10, 102, 10, 4, 56, 58, 101, 53, 58, 101 ¢%<e 7t w2« 32516
Tfered)
b @refem om 11 5 3fem 2 qi s @ 101, 10, 102, 10, 4, 56, 58, 101, 53, 58, 101 TS ©r4
TS Wofm 9|

(1) 10 (2) 58 (3)53 (4) 101
The length of a rectangle is twice its breadth. If its perimeter is 60 cm, find the sum of the length & breadth of
the rectangle.
95! STerFaE 7Y O 2rge faed | 7@ 2fFF i 60 (2 zw, core WY O 2rEa qieEs T e e
G ATOCHFAA () ©fF &rEd faed | 7 wifaisn 60 cm 27, 7@ 9 ) @ &tEa TS Fo ?

(1) 35 (2) 40 (3) 30 (4) 50
The present age of a son is half the present age of his father. Ten years ago, the father was thrice as old as his son.
What is the difference of their present age?

[T TSI ITA {2157 ST T4 S+l | w2 T ars, f2ig 391 2[@a IR fefied wifes, oetaies Iswi amvm
A1 et 2
TR IS IT (21O IS JACR SHSF | W6l IR 7 (2107 I3 7[Tad IR (61 @ oz | Poret war #jeaa 39w
TR oA T ?

(1) 30/ q%a /387K (2) 20 / 9=d / 34 (3) 10/ =3 / 3874 (4) 25 /%3 /374
Which of the following does not represent the lengths of the sides of a triangle?
o e oot fagera aies sy w=a e / fsferive @b fagres 3 o a2

(1)5cem, 6 cm, 7 cm (2)2cm, 5 cm, 6 cm (3)2cm, 3 cm, 7cm (4)3cm,4cm,5cm

If we divide the sum of —21—3 &3 % by their difference, then answer will be :-

L5 e 33343 iarer T Preea Rrateree f zad 41 27, (org Ted 29—
17

L5 aa<3si4 G (IS TR TGTT (AT Slol FACH TG TA—
17

9 205
1) — 2) ——
(1) 34 (2) 34
(3) 2 (4) None of the above / &2[9q b€ 72T / AFH'S T

204

A wire of length 176 cm is first bent into a square and then into a circle. Which one will have more area?
176 cm 7] oI IEeE O T4 2iewe I9ftwra o< oiF free 3ea wivt fral 29, @ee wife @frzar
176 cm e RB® @& 6 ©iacE (@fF0a A 10w 8 02 GFH Jre 2AfHere Fa1 27, (FA6a Crawel (T ?
(1) Square / 39w (2) Circle / g€
(3) both the areas are same / GLAIDIE (FITe| (& / COLAA (FATe] AW
(4) Insufficient data / Soi® &2y
Rectangle ABCD is formed in a circle as shown in figure. If 4AF =8cm & AD =5cm , Find the perimeter of the
rectangle.

weTs i foT®, ABCD wIe 7rg @b €4 fowae w/fge | 7w AE =8cm WF 4D =5cm, (S8 ATSCFAATHE
AfT3 vt |

fiw afefs fora ABCD wiwrer=g «afb Jrea sty smf¥e | v AE =8cm, 4D =5cm, Sizte Simer=ivg 2Afa5
w1 E

A B
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122.

123.

124.

125.

126.

127.

128.

(1)30cm (2) 13 cm
(3) 34 cm (4) None of the above / T?[9q GBi¢ 2T / Toitaa GFiboe 77

If A=—(2x+3), B=-3(x—2) and C =—2x—3Find the value of k if (A+B+C) = kx.
A A=—(2x+3), B=-3(x-2)=® C = —2x—3, (ST k T &7 23, 70t (A+B+C) = hkx ZA|
T A=—(2x+3), B=-3(x-2)e C=-2x-3, kif (A+B+C) = kx A, k =?

(-6 2)-7 (3)7 1
2x X X
Find the value of x, if = X4X32 & _1
)0 2
2x X x 2x X X
x?ﬂﬁﬁcﬁlw,ﬂﬁz ><4><32 8 :L / xuﬂ‘slﬂi?{ﬁcfﬂw,‘ﬂﬁz ><4><32 8 :L
(2°) x9 24 (2°) %9 24
(13 (2)2 (3)1 (4) 4

A number is divided into three parts in the ratio of 7:6:10. The sum of first and third part is 11 more than the
second part. Find the number.

B! T FSfet tare 7:6:10 wioiioe Aew Fat 27| 2o wie o ©iaT (Ao Gom sioreis 11 (@, A6t
Fefa 7t

G L 7:6:10 TS fomeits e 41 29| 5 ¢ o7 St 7o 7 ot (A4 e 11 @, et ey
9|

(1) 17 (2) 20 (3)23 (4) 26
Nishant planted some rose plants around his rectangular garden, dimensions of which are 12.5 m & 7.50 m. If the
distance between two plants is 2.5 m, then how many plants did he plant?

12.5 m 7 @< 7.50 m 2% 8 simesia qifast «bre ez caieel gee 9jf <0et | 9 ! o1%d 799 2.5 m 23,
cefeat (S'e Aifavrs i sjfe +=4 olifsa 2
M= 12.5 m A @ 7.50 m 218 R @& (b wimesia At 2fFim Faea 5 o v weiee | 3 5o
BIAIANTRR ¥A 2.5m T, O3 To Faiita F© wfer vt anfaware ?

(1) 18 (2) 14

(3) 16 (4) None / @bie 727 / «=ioe =t

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

Name the player, who was awarded ‘Golden Glove Award’ in the FIFA World Cup 2022?
Terer! fapiot 2022 7 “olteent oi %I fAod (Lefia AP A 5 2
Terept fpgetel 2022 @ ‘(AR 2irew =A% Rreret cAtamTea 7w & 2

(1) Mike Maignan / & 2o«

(2) Manuel Neuer / ST 01 / ST A

(3) Emiliano Martinez / @fsiferaiat snfbtae / afserita bt

(4) Lionel Messi / fveta (ifg / fvetsa (it

The Nyishi support themselves with a slash-and-burn agriculture and with hunting and fishing Nyishi tribe is
mainly found in which state of India?

i fete cras3t, i, T e Tir @9 @ ool | see @i aers Tere ffg wes
coAlI gE e
Tt T T weo-awe FR-FIT @A MFR @32 g @R MY Frewa Fda FeEE, @ [ Terste agee
OIed (FI AT “NSH T4 ?

(1) Meghalaya / GIeTs (2) Sikkim / fefew / fifew

(3) Arunachal Pradesh / S<e{[be1 2T / SIeelibet 2ATa*! (4) Nagaland / st / TS
Which Company Has Launched ‘Citizen First” Advertisement Campaign?

Foifew el Feiom sfeaw @t @i e g ?

@A @A ol etem’ Rea7mi eibrafea ve F0are ?
(1) AMUL / =I[& ) ITC /=g o /=i &
(3) TATA /516t (4) CADILA / (=fea / Fifeen
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129. India won total 61 medals in Commonwealth Games 2022 in Birmingham.
FifikziTe TP (@9 FTAEEL (2022 TSI 61 Bl oS @S I
2022 ATER ATEA FIAETHAL (307 ©iFS (36 61 o fererz)
(1) 23 Gold+22 Silver+16 Bronze / 23 (AW + 22 9l + 16 3¢ / 23 5 + 22 (A% + 16 @ig
(2) 22 Gold+23 Silver+16 Bronze / 22 (i + 23 %ot + 16 3/ 22 F + 23 (20 + 16 @G
(3) 22 Gold+16 Silver+23 Bronze / 22 (i + 16 ot + 23 3G/ 22 F + 16 (20 + 23 @G
(4) 16 Gold+23 Silver+22 Bronze / 16 (Al + 23 | + 223 / 16 5 + 23 (A% + 22 @ig
130. Which is the first child marriage free district in India?
TIAGF 22 47 T AR T@ T @i 2
Fea @D SETed 2Yw AEvRaR-e fTm@ 2
(1) Ganjam in Odisha / Efei7a aigiw / efeiz g
(2) Jorhat in Assam / SIS (ARG / AT (ATZH6
(3) Gurugram in Haryana / if¥siaiq e@ais / 2f@aa ewes
(4) None of these / @B 72T / GFTHS 77
131. Inthe year 2008, the age of Sinchan was 15 years and his brother Blackey was 10 years old. After some years,
when Sinchan’s age becomes 30 years, then Blackey s age becomes
2008 51 Sinchan T 371 WifReT 15 924 W% (S99 SITIF Blackey T 39 wrfiﬁr 109%d | (&4 924 2IF Sinchan 3
A 30 I2A TCE (O€A ©TF Blackey 3T 23 |
2008 ATE, Sinchan «3 IR Te@T 15 T2 932 OF SICAA 379 o7 10 ISR | FTFSF I 203 Sinchan @3 779 30
<779 0 ©F ©f% Blackey 9 99 204 |
(1) 15 years / 928 / 3874 (2) 20 years / 924 / 9714
(3) 25 years / 929 / IR (4) 30 years / 924 / 34
132. 10 men can complete a work in 10 days. 20 men can complete the same work in
10 &1 2 @61 F 10 frere 7=9)ef 549 #iita, cﬁmﬁzowmmémaﬁﬁz |
10 T WA @& {6 1 10 Tta 791 73, ©13 20 T TLEa @@ FIS FACS 75 AR |
(1) 5 days / fa=t (2) 10 days / fas (3) 15 days / fasy (4) 20 days / fasy
133. A teacher has 149 chocolates. After giving three chocolates to each student, she is left with 56 chocolates. The
number of students in the class is

qe R e grew 149 B 5FED WS, mer%mw 351 0 DFCE6 WA ATS (€1 Zo® 56 B bFEH

9! ifFea (WNHre wa-raT 7 |
TG frFCEa F17 149 T STt Wy, 2AteF BarE 3 6 F03 St (MeTE “9e e F1r 56 6 sraites
TRME T, (HANTS DG-2ag AL |

(1) 49 (2) 42 (3) 31 (4) 56

134. A man walks 12 meters in east, 48 meters in north, 24 meters in west and then 48 meters in the south. The
minimum distance between his initial and final position is

e ez 12 f6E #4t3, 48 i Tera, 24 foE wﬁmwwﬁwmsﬁmﬁqwmmwmw
TS F4 A 2 S e Sfeww Fat Jeres vay efm w4
GFEH (ENF 12 TR 2T, 48 FoE Tera, 24 TibR #60a © 277 48 FibE wiwe wev™ 27, SfF o ¢ 2idfE

SRFICTR Trew 1Ay fWefm F4|
(1) 12 meters / f5i5r= / fiio= (2) 24 meters / f3Br= / fioE
(3) 64 meters / 5= / fo= (4) 72 meters / fSBr= / fio=
135. 90, 85, 81,78, 76, ?,
(1) 70 (2)75 (3)74 4)72
136. 5:15::7:21::9:27::16: ?
(1) 45 (2) 38 (3) 48 4) 42

137. If ‘Spectacles’ is related to ‘Eyes’, then ‘Gloves’ is related to

W “Spectacles’ *FTH! ‘Eyes’ q (0 TT® (9@ ‘Gloves’ "W‘Cﬁ 7N GYe |
T ‘Spectacles’ *i% ‘Eyes’ @7 ALY FFTE 27, ©F “‘Gloves’ *% FI74 Wﬂﬂ“ﬁ”ﬂﬁ??
(1) Neck / fefe /=g (2) Hand / Tr® (3) Nose / 91iF (4) Foot / =% / =it
138. In a certain code language ‘Sun is shine’ is coded as “pie lo quej’, ‘Hot sun summer’ is coded as ‘jos pie licu’ and
‘Shine like a star’ is coded as ‘quej ze pi puzek’, then the code for ‘shine’ is
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139.

140.

141.

142.

143.

144.

145.

146.

T @6} MIFTES SIA® “Sun is shine” ®&Eo! ‘pie lo quej’ &pirat, ‘Hot sun summer’ F “jos pie licu’ fZoiee!
o< “Shine like a star’ 9% ‘quej ze pi puzek’ &oitel &1l =7, (90T “shine’ *=AT61R ALAE 29—
GBI STt /4l “Sun is shine’ FAFH pie lo quej’, “Hot sun summer’ AFH ‘jos pie licu’ @32 “Shine like a star’
AF “quej ze pi puzek’ TR FAFS TT, “shine’ *wH A Wﬁ{@m 1

(1) quej 2) 1o (3) pie (4) ze
Find which one word can be made from the letters of the given word ‘CHROMATOGRAPHIC’.
‘CHROMATOGRAPHIC’ *% 2l &14 (FIT5! 1% 9lgw Ff4q Aifq?
forsferfre @ =% ‘CHROMATOGRAPHIC® *% (T (41 20T A ?

(1) STORE (2) ROAST (3) MOTOR (4) GRAPHS
If ' means '+, 'X' means '+',~'means ~' and '+' means 'x', then the value of 35 -7 x 2 +3 + 4 is—
T A+, X T+, T I X, (S8 35 -7 X2+ 3+ 43 AMTI—
W T '+, XA T @3 T X R, O 35 - 7 X 2+ 3+ 4 GF T A |

(6 2)5 3)-5 4) -6
If ‘FOUR’ is coded as ‘OURF’, then ‘STAR’ is coded as .
T ‘FOUR’F ‘OURF’ f&birel fordi 23, (o1 ‘STAR’ % f2pieet v 23
I ‘FOUR’ @7d (FC ‘OURF’ 27, 974 ‘STAR’ @7 (F1® 273 |
(1) ARTS (2) TSRA (3) TARS (4) SRAT

Kohli is standing on a ground such that he is facing towards the east. He turns by 180" clockwise and 90"
anticlockwise. Now he is facing towards

@ mwmsﬁﬁﬂﬂﬁmﬁ (S'¢ TEA F51E e 180w w17 foge wSia #1519 [Roidre
e 90" J73, (1T (S'¢ TSI (Fiw e 4 S« 47 2 =R ?
@Izl Mes A 12 Fea wifern @i, foH v Five fite 180° ¢ #ita v #15a [Rei@ite 90° (Fitel gatat @w
o @tvee 32 73 @itz 2

(1) North /T&9 /Tas (2) East/ 9@ / 9& (3) South / wfzwa (4) West / #if%p%
AB2, CDI12, EF22, GH32, ?

(1) 1742 (2) 1124 (3) J142 (4) 124
The mirror Image of the following figure is

were frat #iref eifefaetht tare—
Frfoaia «inf afefm ctafe 2

A A A

The water image of following figure is—

Fafee foae 21 2ifewfs tare—
Tt Brag s afown za—

GUEST HOUSE

(N CGNE2L HONZE > (2) <CnEez2lHONZE 3) J2UOH Te3uo 4 J2UOH T23uUo

Which number replace '?" in the following diagram?

9GS (FICH! FRA A(ZA? / ¥ FOre (@i AifB A ?

114[4
116(9
11917
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(o (2)3 (3)5 @7
147. Fill the '?' mark symbol.
2 FITCol AR F || /2B AFe F4

TE | 3T | D] | JAK | 2
(@) (b) (©) (d
NAL
) Kvr 2 3) WK @) AVP

148. Fill the '?' mark symbol.
2 FITCol AR F || /2B AFe T4

DR

(@) (®) (€) (d)

(M ‘=|I:||=' 2) % 3) :ﬂj “4) 'ﬁl}:’

149. If 3x6=18,4x7=22,9%x1=20 then 5x2 ="
W 3x6=18,4x7=22,9%x1=20, (T 5x2 ="
W 3x6=18,4x7=22,9x1=20,%r3 5x2="7

17 (2) 10 (3) 14 (4)3
150. Complete the following series :
frafere »jze@est e =t
Frefariie wjreefs s ==
DO |
(a) (b) (c) (d)
(1) @ ) @ (3) CP (4) @
skskskskok
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